Q. (EEHERIERGE 1 A Y 76-2)
aZ T TEST-HENN 6 DEEOLAEDLIT T, 34180 752N Lo W&EFEHA,

A.
a% 7T THEHSTRUVN6DEX, ald6,13,20,27,34,41,48 D 7Y T,

ZHUCK LT DT D4 9HOEFDH>H 7 THISTZRV A0, 1 TR (=7 TH|
STERVNR2, 3, 4, 5, 6DOWTNN) L FT,

ZD 34 LiE,

49— (7T THSTZRY D0 DEDMEE) — (7 THI-72HRY D0 OEDOEE)
=49—-7—-8=34%L730 %9,

aDHRVIN6T (ath) N7 O/EEIZ/R>TLEIDIZ, bORY N1 DL ETT,
CDam 7 TESERYN6DLEEIZT b OMEEN 3 4 THREHRARDIZ. RV 0,276 D
RAXEE DN ENEN TET O THLOIC, RV B 1O L EETIT0E S TEED 8 &%
Ko TWENLTY,

ZDI=, MOBFESFITF TIT 49-7-7=35 L LT\ & Z AN, 49-7-8=34 (2720 £,



